
Caractéristiques de l'épreuve

Saint-Quentin-Fallavier TH2 originales

Joueurs : 66 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 3 3

Serie 2 : A : 4 B : 0 4

Serie 3 : A : 5 B : 2 7

Serie 4 : A : 13 B : 5 C : 5 D : 4 27

Serie 5 : A : 7 B : 10 C : 0 D : 3 20

Serie 6 : A : 2 B : 1 C : 2 D : 0 5

Serie 7 : 0 0

Faulquemont Créhange (Faulquemont) TH2 originales

Joueurs : 18 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 1 B : 0 1

Serie 2 : A : 0 B : 1 1

Serie 3 : A : 0 B : 0 0

Serie 4 : A : 1 B : 0 C : 2 D : 1 4

Serie 5 : A : 5 B : 2 C : 0 D : 0 7

Serie 6 : A : 2 B : 2 C : 0 D : 0 4

Serie 7 : 1 1

2X Saint-Quentin-Fallavier Faulquemont

Joueurs : 84 M = 168 D = 2

Joueurs par Série : Total :

Serie 1 : A : 1 B : 3 4

Serie 2 : A : 4 B : 1 5

Serie 3 : A : 5 B : 2 7

Serie 4 : A : 14 B : 5 C : 7 D : 5 31

Serie 5 : A : 12 B : 12 C : 0 D : 3 27

Serie 6 : A : 4 B : 3 C : 2 D : 0 9

Serie 7 : 1 1

Page 1


